sban¥l ol ) g€all Al Al el el landyt A

Put (V)for the correct answer, for the first six questions:

Ql:Let X be continuouse r.v distributed as chi-square with (M=10) then the
moment generating function is.

a) MY =(1-2t)5

b) MY = (1 2t)~20

) MY =(1-2t)10]
|

Q2:In analysis of Regression, when we add anumber of independent

variables X; then this increases the value of.

a) SSR

b) SStotal

c) SSError

Q3:Let X3,X,, ..., X, be ar's from poisson (38) then the unbiased estimator

for G is:

w | >y

|

b)

n+1

c) 3X

Q4:For the general linear Regression model
Y=XF+U, U~N(0,0%In), Then the variance

Of the Linear combination from estimated parameters are:

a) Sz(3b1 e 4‘b2) == qSZ(bl) —3 1652(b2) — 24‘COU(b1, bz)
b) $2(3by — 4b,) = qS%(by) + 165%(b,) — 24(bq, by)
C) 52 (3b1 - 4‘b2) = qu(bl) =i 1652(b2) + 24’(b1, bz)
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Q7:Let Y1<Y2<Y3 be order statistics from

fOX) =1 0<X<4

Find g(ys) ,compute P(y; > 2)



Q8:Let X1,X3,...,.Xn be ar.s from distribution with p.d.f

3X

X,0)== ¢ X,0 >0
\Va

0 0/w
i)find the B.CR of size « for testing
Ho:6 =1
Hi.6 =9
iNIfC ={X;X < 1}finda, B
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Ce = PotP1W; + BoY: + Uy
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t, t ta ts
18 35 2 11
23 36 4 16
21 31 7 14
24 35 5 21
25 33 4 15
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